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EQUATION OF A LINE

1. Check, whether point (4, -2) lies on the line

represented by equation 3z + 5y = 2 or not?

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XbwARLTtHiF5

2. The straight line represented by equation
x — 3y + 8 = 0 passes through (2, 4). Is this

true ?

o Watch Video Solution

3. The line, represented by the equation
3r — 8y = 2, passes through the point (k, 2).

Find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_XbwARLTtHiF5
https://dl.doubtnut.com/l/_btl2yz6cGXc9
https://dl.doubtnut.com/l/_PQScr8IV5VKw

4. Does the line 3z = y 4 1 bisect the line

segment joining A (-2, 3) and B (4, 1)?

o Watch Video Solution

5. The line joining the points (2, 1) and
(5, — 8) is trisected at the points P and Q . If
point P lies on the line 2z — y + k = 0. Find

the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_PQScr8IV5VKw
https://dl.doubtnut.com/l/_giQQzFjJNHYM
https://dl.doubtnut.com/l/_BYgXPR4H28tc

6. Find the slope of the line segment whose

inclination is :

60°

o Watch Video Solution

7. Find the slope of the line segment whose

inclination is :

52°

o Watch Video Solution



https://dl.doubtnut.com/l/_ENQPAI6vlry8
https://dl.doubtnut.com/l/_H59CzDKu1wC0
https://dl.doubtnut.com/l/_rILAasAhtiL4

8. Find the inclination of the line whose slope

iS:

o Watch Video Solution

9. Find the inclination of the line whose slope
is:

2.9042

o Watch Video Solution



https://dl.doubtnut.com/l/_rILAasAhtiL4
https://dl.doubtnut.com/l/_mQYk5lT6pVMv
https://dl.doubtnut.com/l/_YPtZFcwJZrge

10. Find the slope of the line passing through
the points A (-2, 3) and B (2,7). Also find the

inclination of the line AB.

o Watch Video Solution

11. Find the slope of the line passing through
the points A (-2, 3) and B (2,7). Also find the

inclination of the line AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_YPtZFcwJZrge
https://dl.doubtnut.com/l/_jBvIWFWZOKJ2

12. Find the slope of the line passing through
the points A (-2, 3) and B (2,7). Also find the

inclination of the line AB.

o Watch Video Solution

13. The line joining A (-3, 4) and B (2, -1) is
parallel to the line joining C (1, -2) and D (0, x).

Find x.

o Watch Video Solution



https://dl.doubtnut.com/l/_q3ZoUo4fXUtk
https://dl.doubtnut.com/l/_fQzP6Fa6nR2a
https://dl.doubtnut.com/l/_bMWOnPYlAMGr

14. Given the points A (2, 3), B (-5, O) and C (-2,

a) are collinear. Find 'a".

o Watch Video Solution

15. Find the equation of a line :

whose inclination is 45° and y-intercept is 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_bMWOnPYlAMGr
https://dl.doubtnut.com/l/_HVRiOLCie3du

16. Find the equation of a line :
with inclination =60° and passing through (-2,

5).

o Watch Video Solution

17.Find the equation of a line :

passing through the points (-3, 1) and (1,5).

o Watch Video Solution



https://dl.doubtnut.com/l/_CiFgDVEAO04s
https://dl.doubtnut.com/l/_H0WPS2po5d82

18. Find the equation of the line whose x-

intercept is 8 and y-intercept is -12.

o Watch Video Solution

19. Find the equation of the line whose slope is

-3 and x-intercept is also -3.

o Watch Video Solution



https://dl.doubtnut.com/l/_zZSyTkK4RkUJ
https://dl.doubtnut.com/l/_EPJ6jJ581NMC

20.Find the equation of the line which passes

through (2, 7) and whose y-intercept is 3.

° Watch Video Solution

21. The equation of a line is 3z — 4y + 12 = 0.
It meets the x-axis at point A and the y-axis at
point B. Find :

the co-ordinates of points A and B.

o Watch Video Solution



https://dl.doubtnut.com/l/_lYTkkdb4CZ8c
https://dl.doubtnut.com/l/_dtN6zN3o2RIF
https://dl.doubtnut.com/l/_MOrHfiPcXQEY

22.The equation of a lineis 3z — 4y + 12 = 0.
It meets the x-axis at point A and the y-axis at
point B. Find :

the length of intercept AB, cut by the line

within the co-ordinate axes.

o Watch Video Solution

23. Write down the equation of the line whose
gradient is 3 and which passes through P,
where P divides the line segment joining

A( —2,6) and B(3, — 4) in the ratio 2 : 3.


https://dl.doubtnut.com/l/_MOrHfiPcXQEY
https://dl.doubtnut.com/l/_efDGKiw5U70r

° Watch Video Solution

24. A straight line passes through the point
P(3, 2). It meets the x-axis at point A and the y-
2
is at point B. If —= = —. [
axis at point B. If e 3 find the equation
of the line that passes through the point P

and is perpendicular to line AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_efDGKiw5U70r
https://dl.doubtnut.com/l/_GJCLwtSxrMLu

25. Find the equations of the lines which pass
through the point (-2, 3) and are equally

inclined to the co-ordinate axes.

o Watch Video Solution

26. Find the slope and y-intercept of the line

2 —3y—4=20

° Watch Video Solution



https://dl.doubtnut.com/l/_iAy46zyKxOU6
https://dl.doubtnut.com/l/_likgImWDcyK3

27. Given two straight lines 3z — 2y = 5 and
2x + ky + 7 = 0. Find the value of k for which
the given lines are :

parallel to each other.

o Watch Video Solution

28. Given two straight lines 3z — 2y = 5 and
2z + ky + 7 = 0. Find the value of k for which
the given lines are :

parallel to each other.

| & I


https://dl.doubtnut.com/l/_NUp2jwoSaD5o
https://dl.doubtnut.com/l/_GQ2IsHdmTmVp

| ¥ Watch Video Solution |

29. Find the equation of the line passing
through (2, -1) and parallel to the line

2¢ — y = 4.

o Watch Video Solution

30. Find the equation of the line which passes
through the point (-2, 3) and is perpendicular

totheline2x +3y+4=0

o Watch Video Solution



https://dl.doubtnut.com/l/_GQ2IsHdmTmVp
https://dl.doubtnut.com/l/_RSTFXCY347J1
https://dl.doubtnut.com/l/_wbfhENrAQ3Fh

31. Given two points A (-5, 2) and B (1,-4), find :

mid-point of AB.

o Watch Video Solution

32. Given two points A (-5, 2) and B (1, -4), find :

slope of AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_wbfhENrAQ3Fh
https://dl.doubtnut.com/l/_lr9Bfb10qFRe
https://dl.doubtnut.com/l/_vndlb3iEqP1Q

33. Given two points A (-5, 2) and B (1, -4), find :

slope of perpendicular to AB

° Watch Video Solution

34. Given two points A (-5,2) and B (1,-4), find :

equation of the perpendicular bisector of AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZkpmyY8ETVir
https://dl.doubtnut.com/l/_PVBGImnWFo3j

35. ABCD is a rhombus. The co-ordinates of A
and Care (3, 6) and (-1, 2) respectively. Find the

equation of BD.

o Watch Video Solution

36. Match the equations A, B, C, D and E with
the lines Ly, Ls, L3, L, and Ls, whose
graphs are roughly drawn in the given

diagram.


https://dl.doubtnut.com/l/_v79uCuvjgnoE
https://dl.doubtnut.com/l/_mHz3J9cxLJzF

A=2x+y=0, B=2r+y=20
C=zx=28,
D=y= —-12 E=2x+4+3y+12=20

o Watch Video Solution

Exercise 14 A


https://dl.doubtnut.com/l/_mHz3J9cxLJzF

1. Find, which of the following points lie on the
linex —2y+5=0:

(4)(1,3)  (#9)(0,5)

(éie)( — 5,0)  (iv)(5, b)

(v)(2, —1.5)  (—2, —1.5)

o Watch Video Solution

2. State, true or false:

% + % = 0 passes through the

point (2, 3).

the line

| & I


https://dl.doubtnut.com/l/_rbGtC5D5IQNr
https://dl.doubtnut.com/l/_vlznUoor7XPT

| ¥ Watch Video Solution |

3. State, true or false:

the line %—I— % = 0 passes through the
point (4, — 6).

o Watch Video Solution

4. State, true or false :

the point (8, 7) lies on theliney — 7= 10

o Watch Video Solution



https://dl.doubtnut.com/l/_vlznUoor7XPT
https://dl.doubtnut.com/l/_EtJSwzouASCG
https://dl.doubtnut.com/l/_KpaHIJK4Yj30

5. State, true or false :

the point ( — 3, 0) lies on thelinexz +3 =10

o Watch Video Solution

6. State, true or false:
if the point (2, a) lies on the line 2z — y = 3,

then a = 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_jTZWg0K36p7L
https://dl.doubtnut.com/l/_6GghmJyIKT5F

7. The line given by the equation 2z — % =7

passes through the point (k, 6), calculate the

value of k.

o Watch Video Solution

8. For what value of k will the point (3, — k)

lie on the line 9z + 4y = 37

o Watch Video Solution



https://dl.doubtnut.com/l/_rRaoc2imtceh
https://dl.doubtnut.com/l/_ENh4FuZ0Mq7c

. 3r 2y .
9. The line = T 3 + 1 = Ocontains the

point (m, 2m — 1), calculate the value of m.

o Watch Video Solution

10. Does the line 3z — 5y = 6 bisect the join

of (5,-2) and (-1,2) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_TmJ2an8ufSah
https://dl.doubtnut.com/l/_fi84HIqN4GGO

1. The line y = 3x — 2 bisects the join of (a, 3)

and (2, -5), find the value of a.

o Watch Video Solution

12. The line £ — 6y + 11 = 0 bisects the join

of (8, -1) and (0O, k). Find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_WmaQ5ppwKH9B
https://dl.doubtnut.com/l/_MDl1Gy4KjMcC

13. The point (-3, 2) lies on the line

ar + 3y + 6 = 0, calculate the value of a.

o Watch Video Solution

14. The line y = mx 4 8 contains the point

(-4, 4), calculate the value of m.

o Watch Video Solution



https://dl.doubtnut.com/l/_zQ0TuosBsoeA
https://dl.doubtnut.com/l/_bwwmwFGxvS8o

15. The point P divides the join of (2, 1) and (-3,
6) in the ratio 2 : 3. Does P lie on the line

r—>dy+156=07?

o Watch Video Solution

16. The line segment joining the points (5, -4)
and (2, 2) is divided by the point Q in the ratio

1:2. Does the line x — 2y = 0 contain Q?

o Watch Video Solution



https://dl.doubtnut.com/l/_fddQUI7xmoTv
https://dl.doubtnut.com/l/_bknA7hvPiHeM
https://dl.doubtnut.com/l/_XWcGLUrEVB51

17. Find the point of intersection of the lines
4 + 3y = 1 and 3z — y + 9 = 0. If this point
lies on the line (2k — 1)z — 2y = 4, find the
value of k.

The above question can also be stated as : If
the lines 4z +3y=1,3z—y+9=0 and
(2k — 1)z — 2y =4 are concurrent (pass

through the same point), find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_XWcGLUrEVB51

18. Show that the lines
2¢ +5y=1,x —3y=6andz +5y+2=20

are concurrent.

o Watch Video Solution

Exercise 14 B

1. Find the slope of the line whose inclination



https://dl.doubtnut.com/l/_naC2qPK6UVpW
https://dl.doubtnut.com/l/_87H42ZhK1goQ

& Wwatch Video Solution ]

2.Find the slope of a line whose inclination is

30°

o Watch Video Solution

3. Find the slope of the line whose inclination
is:

72°,30°

o Watch Video Solution



https://dl.doubtnut.com/l/_87H42ZhK1goQ
https://dl.doubtnut.com/l/_xFFI4tBi9nxn
https://dl.doubtnut.com/l/_xSBveMbit2B9

4. Find the slope of the line whose inclination
is:

46°

o Watch Video Solution

5. Find the inclination of the line whose slope
is :

0

o Watch Video Solution



https://dl.doubtnut.com/l/_7G1M5IqBNEe0
https://dl.doubtnut.com/l/_yhLUBCA1XEG1
https://dl.doubtnut.com/l/_lXoBZntvjXtO

6. Find the inclination of the line whose slope

IS:

J3

o Watch Video Solution

7. Find the inclination of the line whose slope
is :

0.7646

o Watch Video Solution



https://dl.doubtnut.com/l/_lXoBZntvjXtO
https://dl.doubtnut.com/l/_3AA6nyXSLFVK
https://dl.doubtnut.com/l/_gVepcFLZjCMT

8. Find the inclination of the line whose slope
is :

1.0875

o Watch Video Solution

9. Find the slope of the line passing through
the following pairs of points:

(—2, —3) and (1, 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_gVepcFLZjCMT
https://dl.doubtnut.com/l/_Te8MMy5xOCxP

10. Find the slope of the line passing through
the following pairs of points:

( — 4, 0) and origin

o Watch Video Solution

11. Find the slope of the line passing through

the following pairs of points:

(a, —b)and (b, — a)

o Watch Video Solution



https://dl.doubtnut.com/l/_qRojhxsBYbcG
https://dl.doubtnut.com/l/_xlWbFZCNVjKk
https://dl.doubtnut.com/l/_pXMFVUPFbmD5

12. Find the slope of the line parallel to AB if :

A=(-2,4) and B = (0, 6)

o Watch Video Solution

13. Find the slope of the line parallel to AB if :

A=(0, —3) and B=(—2,5)

o Watch Video Solution



https://dl.doubtnut.com/l/_pXMFVUPFbmD5
https://dl.doubtnut.com/l/_YVxwG2MUb4Ac

14. Find the slope of the line perpendicular to
AB if :

A=(0, —5) and B=(—2,4)

o Watch Video Solution

15. Find the slope of the line perpendicular to
AB if :

A= (3, —2)and B=(—-1,2)

o Watch Video Solution



https://dl.doubtnut.com/l/_KpASPYqO1PDX
https://dl.doubtnut.com/l/_STiQbsvbyP6S
https://dl.doubtnut.com/l/_LvCs58MqcNEP

16. The line passing through (0, 2) and (-3, -1) is
parallel to the line passing through (-1, 5) and

(4, a).Find a.

o Watch Video Solution

17. The line passing through (-4, -2) and (2, -3)
is perpendicular to the line passing through

(a, 5) and (2, -1). Find a.

o Watch Video Solution



https://dl.doubtnut.com/l/_LvCs58MqcNEP
https://dl.doubtnut.com/l/_q2QIe7JJqIr7
https://dl.doubtnut.com/l/_uzj7frG0dhG1

18. Without using the distance formula, show
that the points A (4, -2), B (-4, 4) and C (10, 6)

are the vertices of a right-angled triangle.

o Watch Video Solution

19. Without using the distance formula, show
that the points A (4, 5), B (1, 2), C (4, 3) and D

(7, 6) are the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_uzj7frG0dhG1
https://dl.doubtnut.com/l/_xh4GB6DDyv6c

20.( —2,4),(4,8),(10,7) and (11, — 5) are
the vertices of a quadrilateral. Show that the
quadrilateral, obtained on joining the mid-

points of its sides, is a parallelogram.

° Watch Video Solution

21. Show that the points
(a, b+¢c), (b, c+a) and (c, a+b) are

collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_INqVym6BPo7E
https://dl.doubtnut.com/l/_ZgCYNwWz7NML

22. Find x, if the slope of the line joining (x, 2)

d(8,-11) i S
an , is 1

o Watch Video Solution

23. The side AB of an equilateral triangle ABC

is parallel to the x-axis. Find the slopes of all


https://dl.doubtnut.com/l/_ZgCYNwWz7NML
https://dl.doubtnut.com/l/_rQDYrhiwVzJU
https://dl.doubtnut.com/l/_yWYQ3KkiUBTn

its sides.

o Watch Video Solution

24. The side AB of a square ABCD is parallel to

the x-axis. Find the slopes of all its sides.


https://dl.doubtnut.com/l/_yWYQ3KkiUBTn
https://dl.doubtnut.com/l/_VKd2E1FtthiU

'Y

D

Ak _de

o

Also, find :

the slope of the diagonal AC.

o Watch Video Solution

25.The side AB of a square ABCD is parallel to

the x-axis. Find the slopes of all its sides.


https://dl.doubtnut.com/l/_VKd2E1FtthiU
https://dl.doubtnut.com/l/_FgqTCXGD3JPI

-

D C

Ak _de

o

Also, find :

the slope of the diagonal BD.

o Watch Video Solution

26. A (5, 4), B (-3, -2) and C (1, -8) are the

vertices of a triangle ABC. Find :


https://dl.doubtnut.com/l/_FgqTCXGD3JPI
https://dl.doubtnut.com/l/_lnwI69WibBhO

the slope of the altitude of AB.

o Watch Video Solution

27.A (5,4),B (-3,-2) and C (1, -8) are the vertices
of a triangle ABC. Find :

the slope of the median AD .

o Watch Video Solution

28. A (5, 4), B (-3, -2) and C (1, -8) are the

vertices of a triangle ABC. Find :


https://dl.doubtnut.com/l/_lnwI69WibBhO
https://dl.doubtnut.com/l/_EW2ELlOulHYo
https://dl.doubtnut.com/l/_jseFW3M14FsA

the slope of the line parallel to AC.

o Watch Video Solution

29. The slope of the side BC of a rectangle

2
ABCD is 3" Find :

the slope of the side AB.

o Watch Video Solution

30. The slope of the side BC of a rectangle

2
ABCD is 3" Find :


https://dl.doubtnut.com/l/_jseFW3M14FsA
https://dl.doubtnut.com/l/_cQapoz65hVER
https://dl.doubtnut.com/l/_Y76Ca4MGkAwt

the slope of the side AD.

o Watch Video Solution

31. Find the slope and the inclination of the
line AB if :

A= (-3 —2) and B = (1, 2).

o Watch Video Solution

32. Find the slope and the inclination of the

line AB if :


https://dl.doubtnut.com/l/_Y76Ca4MGkAwt
https://dl.doubtnut.com/l/_r2w9OC6tWSHC
https://dl.doubtnut.com/l/_JRb88w9xypRU

A= (0, —/3)and B = (3,0).

o Watch Video Solution

33. Find the slope and the inclination of the
line AB if :

A= (-1,2y/3)and B= (- 2,./3)

o Watch Video Solution

34. The points A(-3, 2), B(2, -1) and C(a, 4) are

collinear. Find a.


https://dl.doubtnut.com/l/_JRb88w9xypRU
https://dl.doubtnut.com/l/_lrtR19rJkCgs
https://dl.doubtnut.com/l/_xiuPd2Bp7mOT

° Watch Video Solution

35. The points
(K,3),(2, —4) and (— K+1, —2) are

collinear. Find K.

° Watch Video Solution

36. Plot the points
A(1,1),B(4,7) and C(4,10) on a graph

paper. Connect A and B, and also Aand C.


https://dl.doubtnut.com/l/_xiuPd2Bp7mOT
https://dl.doubtnut.com/l/_14KFkBObUOcw
https://dl.doubtnut.com/l/_yglgXJT0VTQE

Which segment appears to have the steeper
slope, AB or AC ?
Justify your conclusion by calculating the

slopes of AB and AC.

° Watch Video Solution

37. Find the value(s) of k so that PQ will be

parallel to RS. Given :

P(27 4)a Q(3a 6)7 R(87 1) and S(]-Oa k)

° Watch Video Solution



https://dl.doubtnut.com/l/_yglgXJT0VTQE
https://dl.doubtnut.com/l/_UFXUlE7lmewb
https://dl.doubtnut.com/l/_VBuB40vrU6WX

38. Find the value(s) of k so that PQ will be
parallel to RS. Given :
P(37 T 1)a Q(77 11)7 R( -1, - 1) and

S(1, k)

o Watch Video Solution

39. Find the value of k so that PQ will be

parallel to RS
P(5, —1),Q(6,11), R(6, — 4k) and
S(7, k%)

l ° Watch Video Solution


https://dl.doubtnut.com/l/_VBuB40vrU6WX
https://dl.doubtnut.com/l/_90GqF62qq6rL

Exercise 14 C

1. Find the equation of a line whose :

y-intercept = 2 and slope = 3.

o Watch Video Solution

2. Find the equation of a line whose :

y-intercept =-1and inclination = 45°.

° Watch Video Solution



https://dl.doubtnut.com/l/_90GqF62qq6rL
https://dl.doubtnut.com/l/_HSRnNqyGAhq2
https://dl.doubtnut.com/l/_MXCAUHAspbLa

3.Find the equation of the line whose slope is

4
-3 and which passes through ( — 3, 4).

o Watch Video Solution

4. Find the equation of a line which passes
through (5, 4) and makes an angle of 60° with

the positive direction of the x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_MXCAUHAspbLa
https://dl.doubtnut.com/l/_Mkt7rWmkeqi1
https://dl.doubtnut.com/l/_9eNJOjk03RK5
https://dl.doubtnut.com/l/_fnDHc2tT9ukD

5. Find the equation of the line passing
through:

(0,1) and (1, 2)

o Watch Video Solution

6. Find the equation of the line passing
through:

(-1,-4) and (3, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_fnDHc2tT9ukD
https://dl.doubtnut.com/l/_SiSQndkcv89Q
https://dl.doubtnut.com/l/_8DvsUdsaYIyG

7. The co-ordinates of two points P and Q are
(2, 6) and (-3, 5) respectively. Find :

the gradient of PQ.

o Watch Video Solution

8. The co-ordinates of two points P and Q are
(2, 6) and (-3, 5) respectively. Find :

the equation of PQ

o Watch Video Solution



https://dl.doubtnut.com/l/_8DvsUdsaYIyG
https://dl.doubtnut.com/l/_UYNYtrNMtkq3

9. The co-ordinates of two points P and Q are
(2, 6) and (-3, 5) respectively. Find :
the co-ordinates of the point where PQ

intersects the x-axis.

° Watch Video Solution

10. The co-ordinates of two points A and B are
(-3,4) and (2, -1). Find :

the equation of AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_xEiURwEYBjb0
https://dl.doubtnut.com/l/_cr9QePpmzs8p

11. The co-ordinates of two points A and B are
(-3,4) and (2, -1). Find :
the co-ordinates of the point where the line

AB intersects the y-axis.

o Watch Video Solution

12. The figure given alongside shows two
straight lines AB and CD intersecting each P

(3,4) other at point P (3, 4). Find the equations


https://dl.doubtnut.com/l/_cr9QePpmzs8p
https://dl.doubtnut.com/l/_VO33JkvJJ8wE
https://dl.doubtnut.com/l/_q1qSamCZNZl6

45° of AB and CD.

o Watch Video Solution

13. In AABC, A= (3,5),B= (7,8 and

C = (1, — 10). Find the equation of the


https://dl.doubtnut.com/l/_q1qSamCZNZl6
https://dl.doubtnut.com/l/_gZUeLZq8n9Zc

median through. A.

o Watch Video Solution

14. The following figure shows a parallelogram
ABCD whose side AB is parallel to the x-axis,

/A =60° and vertex C = (7,5). Find the

equations of BC and CD.



https://dl.doubtnut.com/l/_gZUeLZq8n9Zc
https://dl.doubtnut.com/l/_XixhBbemZnET

| ¥ Watch Video Solution J

15. Find the equation of the straight line
passing through origin and the point of
intersection of the lines = +2y =7 and

x—y=4.

° Watch Video Solution

16. In triangle ABC, the co-ordinates of vertices
A, B and C are (4, 7), (-2, 3) and (0O, 1)

respectively. Find the equation of median


https://dl.doubtnut.com/l/_XixhBbemZnET
https://dl.doubtnut.com/l/_PaI9iau88RJL
https://dl.doubtnut.com/l/_dUoM9zQOazXD

through vertex A.
Also, find the equation of the line through

vertex B and parallel to AC.

o Watch Video Solution

17. A, B and C have co-ordinates (O, 3), (4, 4)
and (8, 0) of triangle ABC respectively. Find the
equation of the line through A and

perpendicular to BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_dUoM9zQOazXD
https://dl.doubtnut.com/l/_nL06gk7MMS99
https://dl.doubtnut.com/l/_rdYeeJRmmFiL

18. Find the equation of the perpendicular
dropped from the point (-1, 2) onto the line

joining the points (1,4) and (2, 3).

° Watch Video Solution

19. Find the equation of the line, whose :

x-intercept = 5 and y-intercept =3

o Watch Video Solution



https://dl.doubtnut.com/l/_rdYeeJRmmFiL
https://dl.doubtnut.com/l/_LSqJPqF2Ma2K

20. Find the equation of the line, whose :

x-intercept = -4 and y-intercept = 6

o Watch Video Solution

21. Find the equation of the line, whose:

x-intercept = -8 and y-intercept = -4

o Watch Video Solution



https://dl.doubtnut.com/l/_rZJdxI2Q8Phk
https://dl.doubtnut.com/l/_demTgkt7cXWs

22. Find the equation of the line whose slope

5
is — 5 and x-intercept is 6.

o Watch Video Solution

23. Find the equation of the line with x-

intercept 5 and a point on it (-3, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_qgQzrsuKla8A
https://dl.doubtnut.com/l/_pGwIrXY6xQU8

24. Find the equation of the line through (1, 3)

and making an intercept of 5 on the y-axis.

° Watch Video Solution

25. Find the equations of the lines passing
through point (-2, 0) and equally inclined to

the co-ordinate axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_VYaoJrMzCVoR
https://dl.doubtnut.com/l/_u25jITcBcWJQ

26. The line through P(5, 3) intersects y-axis at

0.

Write the slope of the line.

° Watch Video Solution



https://dl.doubtnut.com/l/_wIkEJ2ENosCi

27. The line through P(5, 3) intersects y-axis at

0.

e
}
s
-

Write the equation of the line.

o Watch Video Solution



https://dl.doubtnut.com/l/_ALaQkt9ZO9FN

28. The line through P(5, 3) intersects y-axis at

0.

Find the co-ordinates of Q.

o Watch Video Solution



https://dl.doubtnut.com/l/_JcXaAv337435

29. Write down the equation of the line whose
gradient is % and which passes through
point P, where P divides the line segment

joining A (4,-8) and B (12, 0) in the ratio 3:1.

o Watch Video Solution

30. A(1,4), B(3,2) and C(7,5) are vertices
of a triangle ABC. Find :
the co-ordinates of the centroid of triangle

ABC.

| & I


https://dl.doubtnut.com/l/_gFD5cKPz6O6A
https://dl.doubtnut.com/l/_c3b3FhYzFfPp

| ¥ Watch Video Solution |

31. A(1,4), B(3,2) and C(7,5) are vertices
of a triangle ABC. Find :
the equation of a line, through the centroid

and parallel to AB.

° Watch Video Solution

32. A(7, —1),B(4,1) and C( —3,4) are

the vertices of a triangle ABC. Find the


https://dl.doubtnut.com/l/_c3b3FhYzFfPp
https://dl.doubtnut.com/l/_mn36F0DboxNQ
https://dl.doubtnut.com/l/_MTXaV2n89jzW

equation of a line through the vertex B and

the point P in AC, such that AP: CP = 2:3.

° Watch Video Solution

Exercise 14 D

1. Find the slope and y-intercept of the line:

y=4

o Watch Video Solution



https://dl.doubtnut.com/l/_MTXaV2n89jzW
https://dl.doubtnut.com/l/_UPYvKAGOktA7

2. Find the slope and y-intercept of the line :

ar — by =0

o Watch Video Solution

3.Find the slope and y-intercept of the line :

3r —4y =15

o Watch Video Solution



https://dl.doubtnut.com/l/_VtdDS9eAu9js
https://dl.doubtnut.com/l/_bnlDI3yuJxMQ

4.The equation of a line is * — y = 4. Find its

slope and y-intercept. Also, find its inclination.

o Watch Video Solution

5. Is the line 3z + 4y + 7 = 0 perpendicular

to the line 282 — 21y + 50 = 07?

o Watch Video Solution



https://dl.doubtnut.com/l/_qYUtLG3uYNnJ
https://dl.doubtnut.com/l/_Uoz7PlmDXC5P

6. Is the line  — 3y = 4 perpendicular to the

linedx —y =77

o Watch Video Solution

7. Is the line 3z + 2y = 5 parallel to the line

x+ 2y =17

o Watch Video Solution



https://dl.doubtnut.com/l/_mimgjkUEkVt0
https://dl.doubtnut.com/l/_SvqvUdmPTQBZ

8. Determine x so that the slope of the line

through (1, 4) and (x, 2) is 2.

o Watch Video Solution

9.Find the slope of the line which is parallel to

z+2y+3=0

o Watch Video Solution



https://dl.doubtnut.com/l/_DKD898Ln8rAj
https://dl.doubtnut.com/l/_6Nvwd1Isdm1a

10. Find the slope of the line which is parallel
to:

z Y
=z _ L _ 1=
2 3 0

o Watch Video Solution

1. Find the slope of the line which is

perpendicular to :

Yy _
a3—2—|—3—0

o Watch Video Solution



https://dl.doubtnut.com/l/_bgORUEVWDX7Q
https://dl.doubtnut.com/l/_L9xiHi9mSmcC
https://dl.doubtnut.com/l/_e92MWu00ikCC

12. Find the slope of the line which is

perpendicular to :

I
S oy=14
3~

o Watch Video Solution

13. Lines 2z —by+ 5 =0 and azx + 3y = 2
are parallel to each other. Find the relation

connecting a and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_e92MWu00ikCC
https://dl.doubtnut.com/l/_eCKK5N7pO6nn
https://dl.doubtnut.com/l/_T1Wlray0QJz2

14. Lines mx +3y= — 7 and bz —ny =3
are perpendicular to each other. Find the

relation connecting m and n.

o Watch Video Solution

15. Find the value of p if the lines, whose
equations are 2 —y+5=0 and

pr + 3y = 4 are perpendicular to each other.

o Watch Video Solution



https://dl.doubtnut.com/l/_T1Wlray0QJz2
https://dl.doubtnut.com/l/_9XIuMOydaw4o

16. The equation of a line AB s
2z —2y+ 3 =0.

Find the slope of the line AB.

o Watch Video Solution

17. The equation of a line AB is
2z —2y+ 3 =0.
Calculate the angle that the line AB makes

with the positive direction of the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_lokCDznyhCjc
https://dl.doubtnut.com/l/_DtkRZ5nkJDvx

18. The lines represented by 4z + 3y = 9 and

pr — 6y + 3 = 0 are parallel. Find the value of

° Watch Video Solution

19. If the lines y =3z + 7 and 2y + px = 3
are perpendicular to each other, find the value

of p.

° Watch Video Solution



https://dl.doubtnut.com/l/_DtkRZ5nkJDvx
https://dl.doubtnut.com/l/_P6c3u0qbCtB4
https://dl.doubtnut.com/l/_0CMLm1ts6ykY

20. The line through A(-2, 3) and B(4, b) is
perpendicular to the line 2z — 4y = 5. Find

the value of b.

o Watch Video Solution

21. Find the equation of the line passing
through (-5, 7) and parallel to :

X-axis

o Watch Video Solution



https://dl.doubtnut.com/l/_XRv01WCqeMrp
https://dl.doubtnut.com/l/_QiDUwwS4GYGR
https://dl.doubtnut.com/l/_rXPkS2bldc98

22. Find the equation of the line passing
through (-5, 7) and parallel to :

X-axis

o Watch Video Solution

23. Find the equation of the line passing

through (5, -3) and parallel to z— 3y = 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_rXPkS2bldc98
https://dl.doubtnut.com/l/_hzaHZnqHKT9t

24.Find the equation of the line parallel to the
line 3z 4+ 2y = 8 and passing through the

point (0, 1).

o Watch Video Solution

25. Find the equation of the line passing
through (-2, 1) and perpendicular to

dx + S5y = 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_2vH75UhwljSH
https://dl.doubtnut.com/l/_AMYF20UGS6ip
https://dl.doubtnut.com/l/_wLfM1cqhyvoI

26. Find the equation of the perpendicular

bisector of the line segment obtained on

joining the points (6, -3) and (0, 3).

o Watch Video Solution

27. In the following diagram, write down :

a¥
|
M
-
0
;] 2
o
1 M=

-2-1‘:'1-1::.


https://dl.doubtnut.com/l/_wLfM1cqhyvoI
https://dl.doubtnut.com/l/_KS4hDJ8EPlJB

the co-ordinates of the points A, B and C.

o Watch Video Solution

28. In the following diagram, write down :

the equation of the line through A and parallel

to BC.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_KS4hDJ8EPlJB
https://dl.doubtnut.com/l/_rTFKuJ2FkSxD

29. B (-5, 6) and D (1, 4) are the vertices of
rhombus ABCD. Find the equations of

diagonals BD and AC.

° Watch Video Solution

30. A =(7,-2) and C = (-1, -6) are the vertices of
square ABCD. Find the equations of diagonals

AC and BD.

° Watch Video Solution



https://dl.doubtnut.com/l/_rTFKuJ2FkSxD
https://dl.doubtnut.com/l/_aqCsJHKsfwKN
https://dl.doubtnut.com/l/_AzYsCaI3KRuc

31.A(1,-5),B (2, 2) and C (-2, 4) are the vertices
of triangle ABC. find the equation of:

the median of the triangle through A.

° Watch Video Solution

32.A(1,-5),B (2, 2) and C (-2, 4) are the vertices
of triangle ABC. find the equation of:

the altitude of the triangle through B.

° Watch Video Solution



https://dl.doubtnut.com/l/_AzYsCaI3KRuc
https://dl.doubtnut.com/l/_LYuz1RpEsrGc
https://dl.doubtnut.com/l/_DeeezXUOt5PD

33.A(1,-5),B (2, 2) and C (-2, 4) are the vertices
of triangle ABC. find the equation of:

the line through C and parallel to AB.

° Watch Video Solution

34. Write down the equation of the line AB,
through (3, 2) and perpendicular to the line

2y = 3z + 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_DeeezXUOt5PD
https://dl.doubtnut.com/l/_KlmQ9Bij3Fn6
https://dl.doubtnut.com/l/_J9OESe1OSdqY

35. A line AB meets the x-axis at A and the y-
axis at B. P(4,-1) divides AB in the ratio 1:2

(i) Write down the co-ordinates of A and B.
(i)find the equation of the line through p and

perpendicular to AB

Y
A A
< e o3
O
/P?(
,-ﬂ""-rﬂrAE'

o Watch Video Solution



https://dl.doubtnut.com/l/_TXVR4pcdfGlo

36. The line 4x — 3y + 12 = 0 meets x-axis at
A. Write the co-ordinates of A. Determine the
equation of the Iline through A and

perpendicular to 4x — 3y 4+ 12 = 0.

o Watch Video Solution

37. The point P is the foot of perpendicular
from A (-5, 7) to the line 2z — 3y + 18 = 0.
Determine :

the equation of the line AP

| & I


https://dl.doubtnut.com/l/_fCYiIPPd553f
https://dl.doubtnut.com/l/_DffJtCf8HRQO

| ¥ Watch Video Solution |

38. The point P is the foot of perpendicular
from A (-5, 7) to the line 2 — 3y + 18 = 0.
Determine : the co-ordinates of P and the

equation of line AP

o Watch Video Solution

39. The points A, B and Care (4, 0), (2, 2) and (O,
6) respectively. Find the equations of AB and

BC.


https://dl.doubtnut.com/l/_DffJtCf8HRQO
https://dl.doubtnut.com/l/_pYNY5RVePXyX
https://dl.doubtnut.com/l/_pPCtcBseKeZy

If AB cuts the y-axis at P and BC cuts the x-axis

at Q, find the co-ordinates of P and Q.

° Watch Video Solution

40. Match the equations A, B, C and D with the
lines Lq, Ly, L3 and L,, whose graphs are

roughly drawn in the given diagram.

A=y=2x, B=y—2r+2=0,


https://dl.doubtnut.com/l/_pPCtcBseKeZy
https://dl.doubtnut.com/l/_d5gxYL5wxZxc

C=3x+2y=6, D=y=2

o Watch Video Solution

41. Find the value of 'a' for which the following
points A (a, 3), B (2, 1) and C (5, a) are collinear.

Hence, find the equation of the line.


https://dl.doubtnut.com/l/_d5gxYL5wxZxc
https://dl.doubtnut.com/l/_MsyDrNDeCzOS

° Watch Video Solution

Exercise 14 E

1. Point P divides the line segment joining the

points A (8,0) and B (16, -8) in the ratio 3:5.
Find its co-ordinates of point P.
Also, find the equation of the line through P

and parallel to 3z 4 5y = 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_MsyDrNDeCzOS
https://dl.doubtnut.com/l/_8yCL5fG3bHkE
https://dl.doubtnut.com/l/_3FjqtEILEeuH

2. The line segment joining the points A (3,-4)
and B (-2, 1) is divided in the ratio 1:3 at point P
in it. Find the co-ordinates of P.

Also, find the equation of the line through P

and perpendicular to the line 5z— 3y = 4.

° Watch Video Solution

3. A line bz 4+ 3y + 15 = 0 meets y-axis at
point P. Find the co-ordinates of point P. Find
the equation of a line through P and

perpendiculartoxz — 3y +4 = 0.



https://dl.doubtnut.com/l/_3FjqtEILEeuH
https://dl.doubtnut.com/l/_K3CbGjIljmhX

o Watch Video Solution

4. Find the value of k for which the lines
kx —b5y+4=0 and bx—2y+5=0 are

perpendicular to each other

o Watch Video Solution

5. A straight line passes through the points
P(-1, 4) and Q(5,-2). It intersects the co-ordinate

axes at points A and B. M is the midpoint of


https://dl.doubtnut.com/l/_K3CbGjIljmhX
https://dl.doubtnut.com/l/_B7XdzEoai8A2
https://dl.doubtnut.com/l/_KgcSVllCLKnI

the segment AB. Find :

*
P
(-1, &) {B
'll:_..H
.
&t!-. -2

The equation of the line.

° Watch Video Solution

6. A straight line passes through the points

P(-1, 4) and Q(5,-2). It intersects the co-ordinate


https://dl.doubtnut.com/l/_KgcSVllCLKnI
https://dl.doubtnut.com/l/_eFuDYPKbSimY

axes at points A and B. M is the midpoint of

the segment AB. Find :

4y
B
(-1, 4) {8
'ttH
S
ﬁ-di!-. -21

The co-ordinates of A and B.

o Watch Video Solution



https://dl.doubtnut.com/l/_eFuDYPKbSimY

7. A straight line passes through the points
P(-1, 4) and Q(5,-2). It intersects the co-ordinate
axes at points A and B. M is the midpoint of

the segment AB. Find :

.y
P
(-1, dy B
'l:_..”
B—r——"
&.Iﬁ. -2

The co-ordinates of M.

o Watch Video Solution



https://dl.doubtnut.com/l/_Sim32PjoqHlg

8. (1, 5) and (-3, -1) are the co-ordinates of
vertices A and C respectively of rhombus ABCD.
Find the equations of the diagonals AC and

BD.

o Watch Video Solution

9. Show that A (3, 2), B (6, -2) and C (2, -5) can
be the vertices of a square.
Find the co-ordinates of its fourth vertex D, if

ABCD is a square.

| & I


https://dl.doubtnut.com/l/_QtmYTfjN2CDE
https://dl.doubtnut.com/l/_iDsyKZVZyTIz

| ¥ Watch Video Solution |

10. Show that A (3, 2), B (6, -2) and C (2, -5) can
be the vertices of a square.

Without using the co-ordinates of vertex D,
find the equation of side AD of the square and

also the equation of diagonal BD.

o Watch Video Solution

1. A line through origin meets the line

x = 3y + 2 at right angles at point X. Find the


https://dl.doubtnut.com/l/_iDsyKZVZyTIz
https://dl.doubtnut.com/l/_n8jPUh3gzcgJ
https://dl.doubtnut.com/l/_QjtKwYDZhtNx

co-ordinates of X.

o Watch Video Solution

12. A straight line passes through the point (3,
2) and the portion of this line, intercepted
between the positive axes, is bisected at this

point. Find the equation of the line.

° Watch Video Solution



https://dl.doubtnut.com/l/_QjtKwYDZhtNx
https://dl.doubtnut.com/l/_xFGcEsB9qmwi

13. Find the equation of the line passing
through the point of intersection of
t+6y=71 and b —8y = —23 , and

perpendicular to the line 4x — 2y = 1.

° Watch Video Solution

14. Find the equation of the line which is

perpendicular to the line r_Y_ 1 at the

a

point where this line meets y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_CgmD2iPAtD5C
https://dl.doubtnut.com/l/_zeIWqjKeMW8a

15.0 (0, 0), A (3, 5) and B (-5, -3) are the vertices
of triangle OAB. Find :
the equation of median of triangle OAB

through vertex O.

o Watch Video Solution

16. 0 (0, 0), A (3, 5) and B (-5, -3) are the vertices
of triangle OAB. Find :
the equation of median of triangle OAB

through vertex O.


https://dl.doubtnut.com/l/_zeIWqjKeMW8a
https://dl.doubtnut.com/l/_OQxZ3oZHvgJu
https://dl.doubtnut.com/l/_9rDyHGvGfRRF

° Watch Video Solution

17. Determine whether the line through points
(-2, 3) and (4, 1) is perpendicular to the line
3r =y+ L

Does line 3z = y + 1 bisect the line segment

joining the two given points ?

° Watch Video Solution



https://dl.doubtnut.com/l/_9rDyHGvGfRRF
https://dl.doubtnut.com/l/_SP4yTtJ68umX

18. Given a straight line
xzcos 30° + ysin30° = 2. Determine  the
equation of the other line which is parallel to

it and passes through (4, 3).

° Watch Video Solution

19. Find the value of k such that the line
(k—2)z+(k+3)y—5=0

perpendicualrto 2z —y + 7 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_aPxMZZLUy27g
https://dl.doubtnut.com/l/_3Rr7HXC17XHZ

20. Find the value of k such that the line
(k—2)z+(k+3)y—5=0is

parallel to theline2z —y+7=20

o Watch Video Solution

21. The vertices of a triangle are A (0O, 5), B (-1,
-2) and C (11, 7). Write down the equations of
BC and the perpendicular from A to BC and
hence find the co-ordinates of the foot of the

perpendicular.


https://dl.doubtnut.com/l/_3Rr7HXC17XHZ
https://dl.doubtnut.com/l/_Q0jtWEHsLx5l
https://dl.doubtnut.com/l/_F2HrxBahksxw

° Watch Video Solution

22. The vertices of a triangle are A (0, 5), B (-1,
-2) and C (11, 7). Write down the equations of
BC and the perpendicular from A to BC and
hence find the co-ordinates of the foot of the

perpendicular.

° Watch Video Solution



https://dl.doubtnut.com/l/_F2HrxBahksxw
https://dl.doubtnut.com/l/_IptWWUkH76g5

23. From the given figure, find :

the co ordinates of A, B and C.

o Watch Video Solution



https://dl.doubtnut.com/l/_nAQw2pr3AFzi

24. From the given figure, find :

the equation of the line through A and parallel

to BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_S9wHxW7eIo1y

25. P(3, 4), Q(7, -2) and R(-2, -1) are the vertices
of triangle PQR. Write down the equation of

the median of the triangle through R.

o Watch Video Solution

26. A(8, -6), B(-4, 2) and C(0, -10) are vertices of
a triangle ABC. If P is the mid-point of AB and
Q is the mid-point of AC, use co-ordinate
geometry to show that PQ is parallel to BC.

Give a special name to quadrilateral PBCQ.

| & I


https://dl.doubtnut.com/l/_jxLpPfcy8HDh
https://dl.doubtnut.com/l/_EDKpPsyvlRew

| ¥ Watch Video Solution |

27. In the given figure, line APB meets the x-
axis at point A and y-axis at point B. P is the
point (-4, 2) and AP : PB = 1: 2. Find the co-

ordinates Aand B.



https://dl.doubtnut.com/l/_EDKpPsyvlRew
https://dl.doubtnut.com/l/_KjXUZmDF8OFU

° Watch Video Solution

28. A line AB meets the x-axis at point A and y-
axis at point B. The point P(-4,-2) divides the
line segment AB internally such that AP : PB =
1:2. Find :

equation of line through P and perpendicular

to AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_KjXUZmDF8OFU
https://dl.doubtnut.com/l/_xDW2pAYpZU90

29. A line intersects x-axis at point (-2, 0) and
cuts off an intercept of 3 units from the
positive side of y-axis. Find the equation of the

line.

° Watch Video Solution

30. Find the equation of a line passing
through the point (2, 3) and having the x-

intercept of 4 units.

° Watch Video Solution



https://dl.doubtnut.com/l/_XzVMbknqn8aI
https://dl.doubtnut.com/l/_B9xBgb0cImm8

31. The given figure (not drawn to scale) shows
two straight lines AB and CD. If equation of the
line AB is : y = & + 1 and equation of line CD
is: y = 4/3z — 1. Write down the inclination

of lines AB and CD, also, find the angle 6


https://dl.doubtnut.com/l/_B9xBgb0cImm8
https://dl.doubtnut.com/l/_sq67VSWwQIwO

between AB and CD.

° Watch Video Solution

32. Write down the equation of the line whose

gradient is 2 and which passes through P,


https://dl.doubtnut.com/l/_sq67VSWwQIwO
https://dl.doubtnut.com/l/_1DjgcjHiMfnr

where P divides the line segment joining

A( —2,6) and B(3, — 4) in the ratio 2: 3.

° Watch Video Solution

33. The ordinate of a point lying on the line
joining the points (6, 4) and (7, -5) is -23. Find

the co-ordinates of that point.

° Watch Video Solution



https://dl.doubtnut.com/l/_1DjgcjHiMfnr
https://dl.doubtnut.com/l/_nwFwO4IAbAMV

34. Point A and B have co-ordinates (7, -3) and
(1,9) respectively. Find :

the slope of AB.

o Watch Video Solution

35. Point A and B have co-ordinates (7, -3) and
(1,9) respectively. Find :
the equation of perpendicular bisector of the

line segment AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_cXrtlGchvzPF
https://dl.doubtnut.com/l/_OglCBibWpC0Q

36. Point A and B have co-ordinates (7, -3) and
(1,9) respectively. Find :

the value of 'p' if (-2, p) lies on it.

o Watch Video Solution

37. A and B are two points on the x-axis and y-
axis respectively. P(2, -3) is the mid point of AB.

Find the


https://dl.doubtnut.com/l/_OglCBibWpC0Q
https://dl.doubtnut.com/l/_QMrpOuoHXDoO
https://dl.doubtnut.com/l/_0C3YwiBTCtcb

co-ordinates of A and B.

o Watch Video Solution

38. A and B are two points on the x-axis and y-

axis respectively. P(2, -3) is the mid point of AB.


https://dl.doubtnut.com/l/_0C3YwiBTCtcb
https://dl.doubtnut.com/l/_eDD5pZ7oGsHn

Find the

slope of line AB

o Watch Video Solution



https://dl.doubtnut.com/l/_eDD5pZ7oGsHn

39. A and B are two points on the x-axis and y-
axis respectively. P(2, -3) is the mid point of AB.

Find the

equation of line AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_VovpTdovtLbn

40.The equation of a lineis 3z + 4y — 7 = 0.
Find:

the slope of the line.

o Watch Video Solution

41. The equation of a lineis 3z + 4y — 7 = 0.
Find:
the equation of a line perpendicular to the

given line and passing through the


https://dl.doubtnut.com/l/_HrA56jAPudXa
https://dl.doubtnut.com/l/_ZnEG7XWxlykS

intersection of the lines  —y+ 2 =0 and

3r +y—10=0.

° Watch Video Solution

42. ABCD is a parallelogram where
A(CL’, y)7 B(57 8)7 0(47 7) and D(27 o 4)
Find :

co-ordinates of A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZnEG7XWxlykS
https://dl.doubtnut.com/l/_mpCxOAqaOrAc

43. ABCD is a parallelogram where A (x, y), B (5,
8),C(4,7)and D 2,-4). Find

(ii) Equation of diagonal BD.

o Watch Video Solution



https://dl.doubtnut.com/l/_5a0JXm6ZWk0T

44, Given equation of line Ly isy = 4

AY
L

L, < P2

> X

Write the slope of line Ly if Ly is the bisector

of angle O.

o Watch Video Solution



https://dl.doubtnut.com/l/_hcH60gcigdAC

45, Given equation of line Ly isy = 4

AY
L,
L, €— Pz >
X € O > X
vy’

Write the co-ordinates of point P.

o Watch Video Solution



https://dl.doubtnut.com/l/_JfaClFj4g57w

46. Given equation of line Ly isy = 4

MY
L,
L, € AN
X € O > X
vy’

Find the equation of L.

° Watch Video Solution



https://dl.doubtnut.com/l/_RvIPxnPjCDTx

47.Find :

A(-5, 4)

“--._,\-‘

B(3, 3)

> X

X ¢——— 3 _IG
/7

equation of AB

° Watch Video Solution



https://dl.doubtnut.com/l/_79tA57S7X9E2

48. Find :

equation of CD

o Watch Video Solution



https://dl.doubtnut.com/l/_hHmX55BrRyUU

49, Find the equation of the line that has x-
intercept = -3 and is perpendicular to

3xr + oy = 1.

o Watch Video Solution

50. A straight line passes through the points
P(-1, 4) and Q(5,-2). It intersects the co-ordinate
axes at points A and B. M is the midpoint of

the segment AB. Find :


https://dl.doubtnut.com/l/_5Qw3kbzaTfxW
https://dl.doubtnut.com/l/_SYUW2UXnPcFZ

'ﬁd!-. =2

The equation of the line.

o Watch Video Solution

51. A straight line passes through the points
P(-1, 4) and Q(5,-2). It intersects the co-ordinate

axes at points A and B. M is the midpoint of


https://dl.doubtnut.com/l/_SYUW2UXnPcFZ
https://dl.doubtnut.com/l/_F8CNCJ9Gpy8C

the segment AB. Find :

¥
P
(-1, &) {B
'l:_..H
N
anls <2

The co-ordinates of A and B.

o Watch Video Solution

52. A straight line passes through the points

P(—1,4) and Q(5, — 2). It intersects x-axis


https://dl.doubtnut.com/l/_F8CNCJ9Gpy8C
https://dl.doubtnut.com/l/_dOqIZFrhVT53

at point A and y-axis at point B. M is the
midpoint of the line segment AB. Find :

the co-ordinates of point M.

° Watch Video Solution

53. In the given figure, line AB meets y-axis at
point A. Line through C(2, 10) and D intersects

line AB at right angle at point P. Find :


https://dl.doubtnut.com/l/_dOqIZFrhVT53
https://dl.doubtnut.com/l/_14WmhNd6mafk

B(-6, 8) C(2, 10)

equation of line AB.

o Watch Video Solution

54. In the given figure, line AB meets y-axis at

point A. Line through C(2, 10) and D intersects


https://dl.doubtnut.com/l/_14WmhNd6mafk
https://dl.doubtnut.com/l/_25dESsOJCyWF

line AB at right angle at point P. Find :

B(-6, 8) C(2, 10)

equation of line CD.

o Watch Video Solution



https://dl.doubtnut.com/l/_25dESsOJCyWF

55. In the given figure, line AB meets y-axis at
point A. Line through C(2, 10) and D intersects

line AB at right angle at point P. Find :

B(-6, 8) C(2, 10)

co-ordinates of points E and D.

o Watch Video Solution



https://dl.doubtnut.com/l/_z8ryOedaLJGR

56. A line through point P(4, 3) meets x-axis at
point A and the y-axis at point B. If BP is

double of PA, find the equation of AB.

o Watch Video Solution

57. Find the equation of line through the
intersection of lines 2r — y = land
3x + 2y = — 9 and making an angle of 30°

with positive direction of x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_umILofkpLl7Y
https://dl.doubtnut.com/l/_NpgtMeQez5yX

58. Find the equation of the line through the
points A(-1, 3) and B(0, 2). Hence, show that the

points A, B and C(1, 1) are collinear.

o Watch Video Solution

59. Three vertices of a parallelogram ABCD
taken in order are A (3, 6), B (5, 10) and C (3, 2)
find :

(i) the coordinates of the fourth vertex D.

o Watch Video Solution



https://dl.doubtnut.com/l/_NpgtMeQez5yX
https://dl.doubtnut.com/l/_DridfgD94BvT
https://dl.doubtnut.com/l/_1MiBGV8096Xz

60. Three vertices of a parallelogram ABCD
taken in order are A (3, 6), B (5, 10) and C (3, 2)
find :

(i) length of diagonal BD.

o Watch Video Solution

61. Three vertices of a parallelogram ABCD
taken in order are A (3, 6), B (5, 10) and C (3, 2)

find :


https://dl.doubtnut.com/l/_1MiBGV8096Xz
https://dl.doubtnut.com/l/_8bmFf47QsBs4
https://dl.doubtnut.com/l/_DDMRACuWKjM7

(i) equation of side AB of the parallelogram

ABCD.

° Watch Video Solution

62. In the figure, given, ABC is a triangle and BC
is parallel to the y-axis. AB and AC intersect the

y-axis at P and Q respectively.


https://dl.doubtnut.com/l/_DDMRACuWKjM7
https://dl.doubtnut.com/l/_W4U8m1dOEZ3K

Write the co-ordinates of A.

o Watch Video Solution

63. In the figure, given, ABC is a triangle and BC

is parallel to the y-axis. AB and AC intersect the


https://dl.doubtnut.com/l/_W4U8m1dOEZ3K
https://dl.doubtnut.com/l/_ad5fGZS6CIXb

y-axis at P and Q respectively.

Find the length of AB and AC.

° Watch Video Solution



https://dl.doubtnut.com/l/_ad5fGZS6CIXb

64. In the figure, given, ABC is a triangle and
BC is parallel to the y-axis. AB and AC intersect

the y-axis at P and Q respectively.

Find the ratio in which divides AC.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ch0x4MG2xVTX

65. In the figure, given, ABC is a triangle and BC
is parallel to the y-axis. AB and AC intersect the

y-axis at P and Q respectively.

Find the equation of the line AC.

o Watch Video Solution



https://dl.doubtnut.com/l/_YejsYKM8zZ7E

66. The slope of a line joining P(6, k) and Q(1 -
1
3k, 3) is 7 Find :

(1) k

o Watch Video Solution

67. A line AB meets X-axis at A and Y-axis at B.

P(4, — 1) divides AB in the ratio 1:2.


https://dl.doubtnut.com/l/_EaNkXMrSlKtL
https://dl.doubtnut.com/l/_bZaomH8tjgdC

3

Find the co-ordinates of A and B.

° Watch Video Solution

68. A line AB meets X-axis at A and Y-axis at B.

P(4, — 1) divides AB in the ratio 1:2.


https://dl.doubtnut.com/l/_bZaomH8tjgdC
https://dl.doubtnut.com/l/_Gw8vLxxi6baE

3

Find the Coordinates of A and B

° Watch Video Solution



https://dl.doubtnut.com/l/_Gw8vLxxi6baE

